5 11 5 11
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 (76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0] 22.0] 129.0| 202.0| 187.0] 56.0] 10.0 1.0 0.0 610.0
C-D)C-)D)1C=-D1C=-DC=-DH[C=-D[C-D[C-)]C-)] (100.0) (104.8)| (118.3) | (90.6) | (9N.7)| (84.8)| (142.9)| (0.0 C - ) 69.2
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] C 0.2] ¢ 0.3)] ¢ 3.6)| (21.D)| (3B.D)| (3.7 ( 9.2)| ( 1.6)| ( 0.2)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 3.0 1.0 0.0 0.0 0.0 7.0
C-)C-)D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-D)C-)[C-)]@0.0|(60.0)| (BH|C-)C-)C-) 68.8
( 0.00]  0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00]| ( 0.0)| ( 0.0)] (14.3)| (28.6)| (42.8)| (14.3)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0] 13.0] 32.0| 26.0 6.0 0.0 0.0 80.0
C-)C-D)C-D)C=-DC=-D[C=-D[C=-DC-DH)[C-D]C-)]C-)] 0.0 (162.5)| (%4.1)| (200.0)| (200.00| C - >| C - ) 68.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0)| ( 0.00] ( 3.8)| (16.3)| (39.9)] (3.5 ( 7.5 ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 8.0] 320 56.0] 26.0 0.0 0.0 0.0 124.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-=-D[C-=-D]C=-D)]C=-)C-)|(6LY|(@8.DY| (1H6.6)| (8.D|C-)|C-)D)C-) 68.7
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00| ( 0.0)| ( 1.6)| ( 6.5) | (25.8)| (45.D)| (21.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 2.0 3.0 2.0 0.0 0.0 0.0 9.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C=-D[C=-DC=-D)C=-D)C-)[(N0|((66.D|(7B.0)] 20.0)0| C-)|C-)C-) 69.0
 0.0)| ( 0.00] ( 0.0)] C 0.0)] ( 0.0)|  0.0)| € 0.0)| ( 0.0)] € 0.00] ¢ 0.0] (11.D)]| (11.D)| (2.2)| (38.49)| (2.2)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 5.0 8.0 0.0 0.0 0.0 0.0 16.0
C-)D)C-)D)C=-DC=-DC=-D[C=-D[C-D[C-D]C=-D)C=-)C-)@00|@0.00| ABD|C-)|C-)C-)C-) 69.1
( 0.00| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ¢ 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (18.8)| (31.3)| (49.9)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 50 17.0] 33.0 6.0 1.0 0.0 0.0 64.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C-)]C-)|10.0 (125.0)| (121.4| (100.00| (€0.0)| C - )| C - )| C - ) 68.9
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] C 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] C 0.00] ¢ 0.00] ¢ 3.| ( 7.8)| (26.6)| (51.5)| ( 9.4)| ( 1.6)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 11.0] 36.0] 65.0] 58.0 7.0 1.0 0.0 179.0
C-D)C-)D)1C=-D1C=-D1C=-D[C=-D[C-D[C-D)]C-)]C-)|00.0(18.3)| (120.0)| (61.3)| 1B.)| AB.0)| C - )| C - ) 68.4
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.00] € 0.6)] ( 6. (20.D)]| (36.3)| (32.9)]| ( 3.9 ( 0.6)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 32.0] 9.0 118.0] 51.0] 13.0 0.0 0.0 313.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-)[C-)]1C-)](500| (@52.4)| (154 (9.0 (8&.0)| (@B.D| C -)|C -) 68.8
( 0.00] ( 0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.3)] (10.2)| (31.3)| (37.7)] (16.3)| ( 4.2)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 13.0] 270 5.0 1.0 0.0 0.0 50.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-D)C=-D)C-)[(00|(6LY|(B.PD|(B)|C-)|C-))C-) 68.9
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0)| ( 0.00] ( 8.0)| (26.0)| (54.0)| (10.0)| ( 2.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 11.0] 20.0 5.0 0.0 1.0 0.0 41.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-D)C=-D)C=-D)CBO|(HBDD|(HBH)| (BHY|C-)|C-D)C-) 68.7
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00]  0.00] ¢ 2.8| ¢ 7.3)| (26.8)| (48.9)| (12.2)|  0.0)| ( 2.4)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50 20.0] 8.0 %.0] 1.0 0.0 1.0 181.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[(5%6)|(76.9]| (61.6)| (12.2)| (20.0)| C - )| C-) 68.2
( 0.00| ( 0.00] ( 0.0)| ( 0.0)] € 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 0.00] ( 2.8)| (11.0)| (46.9)| (30.4)| ( 8.3)| ( 0.0)| ( 0.6)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0[ 10.0] 11.0 7.0 2.0 1.0 1.0 3.0
C=-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C=-)C-)[(B0]| A0.00| (5.0| AB.O| C - )| C-)C-) 68.3
( 0.00]  0.00] ( 0.0)] ( 0.0)| ( 0.0)|  0.0)| ( 0.0)] ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.00] ( 3.00| (30.3)| (3.9 (21.2)| ( 6.1)| ( 3.00| ( 3.00| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 4.0 2.0 0.0 0.0 9.0
C-D)C-DIC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-D)C=-D)C-D]C-D(BD|(#4.DH| (66D C-)C-) 67.7
( 0.00] ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.0)| ( 0.00| ( 0.0)| ( 0.0)| (33.3)| (4.5 ]| (22.2)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 9.0 13.0 2.0 1.0 0.0 0.0 29.0
C-)C=-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DC=-D|C=-D[(PBO| (60.0)| 6.7)|] (20.00| C - )| C-D)]C-) 69.0
( 0.00] ( 0.00] ( 0.0)]  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0)] ( 3.4 (10.3)| (31.0)| (45.0)| ( 6.9 ( 3.9 | ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.0 4.0 1.0 0.0 0.0 0.0 8.0
C-)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C-)C-)| (0.0 (200.0)| (200.0)| (100.0)| C - )| C-D)[C-) 69.0
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)] ( 0.0)] ( 0.00] ( 0.0)] ( 0.0)] (25.0)| (12.5)| (50.0)| (12.5)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)




5 11 5 11
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 (76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0| 110 3.0 1.0 0.0 0.0 17.0
C-D)C-D)1C=-DC=-DC=-D[C=-D[C-D[C-D]C=-)C-)C-)|00.0)]| (200.0)0| (8.9 (27.3)| (100.0)| C - )| C - ) 68.3
( 0.00] ( 0.0)] € 0.0)] ( 0.0)] € 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 0.00] ¢ 5.9 ( 5.9 (64.7)| (17.6)| ( 5.9 ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12.0] 10.0 1.0 1.0 0.0 24.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-D)C-=-D)C-D)]C-)](68.D]| (88| (100.0)| C -)C-) 68.0
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0 ( 0.00] ( 0.00| ( 0.0)| (49.9)| (41.D)| ( 42| ( 42| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 40 13.0 9.0 5.0 1.0 0.0 0.0 4.0
C-)C-D)C-D)C=-DC=-D[C=-D[C-=-D1C-)[C-)]C-)]| 2000 (66.7)| (60.0) (47.4)| (300.0)| (B.)| C - )| C - ) 69.0
( 0.00] ( 0.00] ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 5.9 (11.8)| (38.2)| (26.5)| (4.7 | ( 2.9)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-D)C-D)1C=-DC=-DC=-D[C=-D[C=-DC=-DC=-DC=-D)C=-DC=-D[C=-DC=-DC=-DC=-DC=-DH[C-) 71.4
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)]| ( 0.0)] (200.0)| ( 0.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-DC=-DC=-I)C=-D)C-D@@OD|C-D)]C-D)C-DC=-DC-=-DH[C-) 70.0
 0.0)| ( 0.00] ( 0.0)] C 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (200.0)| ( 0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 0.0 0.0 0.0 4.0
C=-D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-DC=-D)C=-D)C-=-DC-=-D]C-)](0.0]E0O|C-)C-)C-) 67.8
( 0.0)| ( 0.0)] € 0.0)] C 0.0)] ( 0.0)| C 0.0)| ¢ 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0 ( 0.0)|  0.0)| (25.0)| (75.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 4.0 2.0 36.0] 14.0 2.0 0.0 0.0 59.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C-)(00( (8.0 (3B.3]| (120.0)| (280.0)| (100.0)| C - )| C - ) 68.4
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] C 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 1.7)| ( 6.8)| ( 3.9 (61.0)| (23.7)| ( 3.4)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 3.0 9.0 8.0 2.0 0.0 0.0 0.0 0.0 24.0
C-)D)C-D)IC=-D1C=-D1C=-D[C-D[C-D[C-)]C-)]@0.0@00C-)]ABD| @0.)|C-)|C-)C-)C-) 70.3
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 8.3)| (12.5)] (37.6) | (33.3)| ( 8.3)| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 12.0 7.0 0.0 0.0 0.0 2.0
C-)C-D)C-D)C=-DC=-D[C=-D0C-=-DC-D)C-D)C=-DC=-D[C-)](BO| @A0.0)| (700.0)0| C - )| C-D]C-) 68.2
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| (13.6)| (54.6)| (31.8)| ( 0.0)|  0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 7.0 12.0 6.0 2.0 2.0 0.0 31.0
C-D)C-D)IC=-DC=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[(38D|(70.0)| (66.7)| (66.7)| (66.7)| (2000 C - ) 68.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0 ( 0.0)| ( 0.00] ( 6.5 | (22.6)| (38.5)] (19.9)| ( 6.5)| ( 6.5 | ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 4.0 3.0 5.0 1.0 0.0 0.0 0.0 14.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-D)C=-D)C-)[(N0|(3Iq5)|(HBB)| (00| C-)C-)C-) 69.2
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 7.D)]| (28.6)| (21.4)| (35.8)| ( 7.1)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.0 6.0 22.0 8.0 5.0 2.0 0.0 48.0
C-D)C-D)IC=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[(45)]| (0.0 (78.6)| (3B.3)| (4.5 (100.0) C - ) 68.2
( 0.00| ( 0.0)] € 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 0.0)] (10.4)| (12.5)| (45.8)| (16.7)| (10.4)| ( 4.2)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 0.0 1.0 0.0 0.0 5.0
C=-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-I)C-=-)[C-)](0.0]C400]C-)C-)C-)C-) 68.7
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.0 ¢ 0.0)| ¢ 0.0)| ( 0.0)| (40.0)| (40.0)| ( 0.0)| (20.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 2.0 1.0 0.0 0.0 7.0
C-D)C-DIC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-D)C=-D)C=-D]C-)](400|(C-)A0O|C-)C-) 68.0
( 0.00] ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.0)| ( 0.00] ( 0.0)| ( 0.0)| (57.D)| (28.6)| (14.3)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0
C-)C=-D)[C=-D)C=-DC=-DC=-D0C=-DC=-D)C=-DC=-DC=-D[C-=-D)C-DC-D)C=-DC=-D]C=-D]C-) 68.7
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)| ¢ 0.00] ( 0.0)| ( 0.0)| (100.0)| ¢ 0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 1.0 0.0 0.0 3.0
C-D)C-D)IC=-D1C=-D1C=-D[C=-D[C-D[C-DC=-D)C=-DC-D)[C-)]@A0.0)|(C-)]A0O|C-)C-D)[C-) 68.1
( 0.00] ( 0.00] ( 0.0)|  0.0)] ( 0.0)|  0.0)| ( 0.0)] ( 0.0)] ( 0.00] ( 0.0)] ( 0.00] ( 0.0)| (33.9)| ( 0.0)| (33.3)] (33.3)] ( 0.0)| ( 0.0)| (100.0)




11 5 11
A B C

81 80.9 80]79.9 79]78.9 78|77.9 77 76.9 76]75.9 75]74.9 74|73.9 73]|72.9 72 |71.9 7L]70.9 70 |69.9 60 |68.9 68 |67.0 67 |66.9 66 | 65.9 65 |64.9

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 14.0] 12.0 8.0 0.0 0.0 0.0 38.0
C-D)C-)D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C=-)C-)0000|@.3d|(57.D)| (72D C-)C-)C-) 68.8
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.0)|  0.0)| (10.5) | (36.8)] (31.6)| (21.D)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 2.0
C-C=D]C=D1C=DC=D]C=-D]C=DC=D[C=D]C=DC-DC-D[C-DIC-DC-D[C-DC-D|C-)| e85
( 0.0)]  0.00] ( 0.00]| ( 0.0)| ( 0.00|  0.0)|  0.0)| ( 0.0 ( 0.0)| € 0.00| ( 0.0)| € 0.0)| ¢ 0.0)] (200.0)| ¢ 0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 40| 17.0] 16.0] 13.0 0.0 0.0 0.0 52.0
C-)C-D)C-D)C=-DC=-D[C=-D0C-=-DC-D)C-DC-D]C-)]@0.0]| 33| 0.0)] DI C-)|C-D]C-) 68.8
( 0.00] ( 0.00] ( 0.0)|  0.0)] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] C 0.00] ( 0.00] ¢ 3.8 ( 7.D0| (2.7 (30.8)] (25.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 7.0 5.0 1.0 0.0 0.0 0.0 14.0
C-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C=-D]C=-D)C=-)[C-)[(00]| (00.0)| 66.)| C-)|C=-)C=-)[C-) 69.1
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0 ( 0.00] ( 7.D| (50.D| (3B.D| ( 7.D| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 3.0] 13.0] 18.0 6.0 1.0 0.0 0.0 45.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D)]C-)]C-)| 000 (60.0)| (18.7)| (48.6)| (60.0)| (50.00| C - )| C - ) 68.9
( 0.0)| ( 0.00] ¢ 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.00|  8.9| ( 6.7)| (28.9)] (40.0)| (13.3)| ( 2.2)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 3.0 6.0 6.0 2.0 0.0 0.0 0.0 20.0
C-)D)C-)D)1C=-DC=-D1C=-D[C=-D[C-D[C-D)]C-=-)]C-)| (000 (150.0)| (30.0)| (60.00| (66.7)| C - )| C-)[C-) 69.4
( 0.0)|  0.00] € 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.00] ( 0.0)|  0.0)] ¢ 0.0)| (15.0)| ( 15.0)| (30.0)| (30.0)| (10.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 7.0 7.0 5.0 1.0 0.0 0.0 2.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C-=-)C-)| 0.0 2B.3]| (100.0)| (15.00| (100.0)| C - )| C - ) 68.6
( 0.0)|  0.00] € 0.0  0.0)| ( 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)| € 0.00| ( 0.0)| ( 9.D| (31.9)] (31.8)| (2.7)| ( 45| ( 0.00| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 4.0 48.0] 259.0| 581.0| 863.0] 400.0| 75.0 9.0 2.0 2,242.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-)]C-)] 1B (120.0)| (105.3)| (9.D| (73.00| (97.8)| (123.0)| (112.5) | (200.0) 68.8
( 0.0 € 0.00] 0.0 ( 0.0)| ( 0.00|  0.0)|  0.00| 0.0 ( 0.0)| ( 0.2 ( 2.D| (11.8)| (5.9)] (98.7D]| (17.9 | ( 3.3)| ( 0.9 | ( 0.D| (100.0)




5 11 5 11
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0| 139.0| 1,067.0| 2,69.0] 2,466.0| 857.0| 161.0| 28.0 3.0] 7,419.0
C-D)C-)D)C=-DC=-DC=-D[C=-D[C-D[C-)]C-)] (33| (110.3)| (163.0) | (87.1)| (105.3)| (97.7) | ( 86.6) | (103.7) | ( 75.0) 69.0
( 0.0|  0.0)| ( 0.0 C 0.0)| ( 0.00| C 0.00| ( 0.0)| ( 0.00] ¢ 0.0)| ( 0.00]| ( 1.9| (14.9) ] (36.3)| (3.2)| (11.6)| ( 2.2)| ( 0.9)]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 9.0 66.0] 212.0] 230.0] 78.0] 15.0 0.0 0.0 611.0
C-)D)C-)D)IC=-D1C=-DC=-D[C=-D[C-D[C-)]C-)](00( (00| (5%6.9| (85| (8.5 (RB.N| (68| -)C-) 68.9
( 0.0| ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.2)]| ( 1.5)| (10.8) | (%.D]| (37.5)] (12.89)| ( 2.5 ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 2.0 1.0 0.0 0.0 0.0 6.0
C-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DC=-DC=-D[C-DC7DC9D| U C-D)|C-D]C-) 68.9
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.00| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00]|  0.0)| 0.0 (50.0)| (33.3)] (16.D]  0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 26.0] 450 33.0] 11.0 2.0 0.0 125.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-D)C=-)C-)[ABH|(8.D| (19.8)| (1R.0)| @B.O)| C - )| C-) 68.3
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| C 0.00| C 0.0| ( 0.0)| ( 0.00]|  0.0)| ( 0.00]|  0.0)| ( 6.9 (20.8)]| (36.0)| (26.0] ( 8.8)| ( 1.6)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 2.0
C-C=D]C=D1CDC-D]C=D[C-DC=D]C=D[C=DC=-D[C=-D[C=DC-DC-D[C=-DC-)]C-)] 87
( 0.0|  0.0)| ( 0.0 ¢ 0.0)| ( 0.00|  0.0|  0.0)|  0.0] ¢ 0.0)| ( 0.00] ¢ 0.0)| ( 0.0 (50.0)| ( 0.0)| (50.0)]| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 1.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-DC=-DC-=-HC-) 67.2
( 0.0| ( 0.0)| ( 0.0 ¢ 0.0)| ( 0.00| C 0.0| ( 0.0)| € 0.00| ¢ 0.0)| ( 0.00] ¢ 0.0)| ( 0.0  0.0)| ¢ 0.0)| (00.0)| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.0 11.0] 10.0 3.0 1.0 0.0 31.0
C-D)C-)D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-I)C=-)C-)C-)]|@00.0)| (157.1)| (15.0)| (50.00| (0.0 C - ) 68.0
( 0.0|  0.0)| ( 0.0  0.0)| ( 0.00| € 0.0| ( 0.0)| € 0.00] ¢ 0.0)| ( 0.00]| ( 0.0)| ( 0.0 (19.9)| (5.9 (2.3 ( 9.9| ( 3.2]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 21.0] 66.0] 127.0] 74.0|] 18.0 4.0 1.0 313.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D)]C=-)]C=-)(50.0)(140.0) | (124.5 | (47.7)| (127.6) | (163.6) | (200.0) | C - ) 68.4
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00]|  0.0)| ( 0.00]|  0.6)| ( 6.1 (21.D)| (40.8)| (3.6)| ( 5.8)| ( 1.3]| ( 0.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 15.0] 57.0] 97.0] 111.0| 53.0] 17.0 3.0 356.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C-=-DC-)[C-)]C-)| 100 A15.4)| (74.0)| (31.9)| (8.5 | (117.8) | (170.0) | (150.0) 67.9
( 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.00| ( 0.0)| ( 0.00]|  0.0)| ( 0.00]| ( 0.8)| ( 4.2 | (16.0)| (27.2)| (31.3)| (14.9)| ( 4.9] ( 0.8)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 5.0 1.0 0.0 0.0 0.0 8.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C=-DC=-DC=-D)C=-D[C-)](BR3]| @0.0)| (00| C-)C-D)[C-) 68.7
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.0 ( 0.0)| ( 0.0 (5.0| (62.5) ] (12.5] ( 0.0)| ( 0.00]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0] 15.0] 12.0 2.0 0.0 1.0 3.0
C-C-DC-DCDC-DCDC=-C=D]C-DIC-D]C=-D[C-)| (] (3| (4| (BIH|( - )| (- )| 680
( 0.0|  0.0)| ( 0.0  0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00] ¢ 0.0)| ( 0.0 ( 0.0)| ( 0.0| ( 9.D| (45.49)| (36.9)| ( 6.1)| ( 0.0] ( 3.00| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0] 39.0] 71.0] 58.0] 14.0] 11.0 0.0 201.0
C-)D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[(00]|(7.00| (8.5] (100.0)| (1%6.6)| 25.0)| C - ) 68.1
( 0.0|  0.0)| ( 0.0 € 0.0)| ( 0.00| € 0.0|  0.0)| € 0.00] ¢ 0.0)| ( 0.00]| ( 0.0)| ( 4.0 | (19.9| (B.2)| (28.9| ( 7.0)| ( 5.5 ]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12.0] 63.0] 131.0] 9L.0| 44.0] 21.0 1.0 363.0
C=-D)C-)D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-)C=-)[C706)| (79.7| (119.1)| (206.8) | (440.0)| (99.9) | C - ) 68.0
( 0.0] ( 0.0)| ( 0.00] ( 0.0)] ( 0.00| C 0.0| ( 0.0)| ( 0.00]|  0.0)| ( 0.00]|  0.0)| ( 3.3 (17.D]| (3%.0)]| (5.D]| (12.)]| ( 5.89] ( 0.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 9.0 7.0 2.0 0.0 0.0 0.0 19.0
C-)C-DC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C=-)C=-)[(500]| @12.5| (100.00| (00.0)| C - )| C - ) C-) 68.9
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| C 0.0| ( 0.0)| € 0.00]| ( 0.0)| ( 0.00]|  0.0)| ( 5.3 (47.9]| (36.8)] (10.5] ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 10.0] 17.0] 120 2.0 1.0 0.0 46.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-D)[C-D]C-D]C-)| (00| ALY | 2.5 | (10.00| (20.00| C - >| C - ) 68.5
( 0.0| ( 0.0)| ( 0.00] ( 0.0)|  0.00| C 0.0| ( 0.0)| ( 0.00]|  0.0)| ( 0.00]| ( 0.0)| ( 8.1 (2.1 | (37.0)| (26.D]| ( 4.3)| ( 22| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 2.0
C-C=D]C=D]C=C-D]C=D]C=C=-D]C=D]C=DIC=-D]C-D[C=-DC-DC-D[C-D[C-D|C-)| 6838
( 0.00] ( 0.0)] ( 0.00] ( 0.0)] ( 0.00| ( 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00] ( 0.0)| 0.0 (50.0)| ( 0.0)] (50.00] ( 0.0)| ( 0.00] ( 0.0)| (100.0)




11 5 11
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 1.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-DC=-DC=-)C=-DC=-D[C=-DC-=-DC-D)C=-DC-=-HC-) 69.3
( 0.00| ( 0.00] € 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] ( 0.0)| (200.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 3.0 2.0 3.0 0.0 0.0 0.0 10.0
C=-)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C=-)C-)[@00|(75.0|(00|(BOY|C-)C-)C-) 68.8
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0)| ( 0.0)] (20.0)| (30.0)| (20.0)| (30.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 3.0 0.0 0.0 0.0 0.0 5.0
C-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DC=-DC=-D[C-D)RO[CITY|C-D)|IC-=-D)]C=-D]C-) 68.7
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.0)| ( 0.0)| ( 0.0)| (40.0)| (60.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 8.0] 320 300 140 3.0 0.0 1.0 90.0
C-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)]C-)|@0.0| (1143)| (1B.3)| 1B6.D| (87.5)| (29| C - )| C -) 68.8
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 2.2| ( 8.9 (35.6)| (3.3)]| (15.8)| ( 3.3 | ( 0.0)| ( 1.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 1.0 0.0 0.0 0.0 5.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C=-DC=-DC=-DC=-D)C=-DC-DH]C-)]A0D| (B C-)C-D)[C-) 68.4
 0.0)| ( 0.00] ( 0.0)] C 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.0 ¢ 0.0)| (20.0)| (60.0)| (20.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 1.0 0.0 0.0 4.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-DC=-DC-=-HC-) 66.8
( 0.0)| C 0.00] ( 0.0)] C 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 0.0 ¢ 0.00|  0.0)|  0.0)| (75.0)| (25.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 11.0 5.0 0.0 0.0 0.0 20.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-D)C-H)C-)]@0.0)|(C-)]EGOIC-)C-)C-) 68.5
( 0.00] ( 0.0)] ( 0.0)] C 0.0)] C 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] ( 5.00| (15.0)| (55.0)| (25.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 3.0 1.0 0.0 0.0 0.0 5.0
C-D)C-DIC=-D1C=-DC=-D[C=-D[C-D[C-DC=-D)C=-D)C=-D)C=-D]C-D)BY|(WBD|C-)|C-)C-) 68.6
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)] (20.0)| ( 0.0)| (60.0)| (20.0)| ¢ 0.0)| ( 0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 10.0] 18.0] 19.0 8.0 2.0 1.0 61.0
C-)C-D)C-D)C=-DC=-D[C=-D[C=-DC-H)C-D]C=-D]C-)H]((66.7]| (667 (8.7 (126.7)| (80.0)| (33.3)| (100.0) 67.9
( 0.00] ( 0.00] ( 0.0)|  0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 1.6)| ( 3.3)| (16.4)| (29.5)| (31.2)| (13.1)| ( 3.3)| ( 1.6)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D1CDC-D]C=D[C=C=-D]C=D]C=C=D]C=DC-DC-DC-D[C-D[C-)|C-)| a4
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] (100.0) | ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 150 63.0] 8.0 26.0 4.0 2.0 0.0 198.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-D]C=-D)C=-D)C-)[(4D]| (8.3 (109.9| (122.9| (80.0)| C - )| C -) 68.8
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.00] ( 7.6)| (31.8)| (44.5)| (13.0)| ( 2.0)| ( 1.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 1.0 0.0 0.0 0.0 0.0 4.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-DC=-D)C=-D)C=-D)ERD|C-D)(BY|C-D)|C-D)C-DHC-) 69.2
( 0.00| € 0.00] € 0.0)] ( 0.0)] € 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 0.0)] (25.0)| (50.0)| (25.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 8.0| 18.0] 39.0] 22.0 5.0 0.0 0.0 %.0
C=-D)C-)D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)]C-)[@0.0|(8.9| (40| (72| (66.7)| (8| C-)C-) 68.6
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ( 4.2)| ( 8.3)| (18.8)] (40.6)| (2.9 ( 5.2)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 9.0 23.0] 4.0 34.0] 1.0 3.0 2.0 132.0
C-)C-)D)C=-D1C-=-D1C-D[C-=-D[C-D[C-)]C-)]C-)|00.0) (100.0) | (8&.2)| (14.7)| (117.2) | (115.4)| ( 60.0) | (200.0) 68.1
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 0.8)] ( 6.8)| (17.4)| (34.0)| (25.8)| (11.9)| ( 2.3)| ( 1.5)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 1.0
C-)C=-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-D)C=-DC=-D[C-DH]C6eD[C-)C-DC-=-D]C=-D]C-) 69.7
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)| ¢ 0.0)] ( 0.0)| (200.0)| ¢ 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.0 18.0] 340 32.0] 290 9.0 6.0 134.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-=-D]C=-D)C=-)[C-)A00|(8&.ND| (85| (9N.4| (9%.7)| (75.0)| (300.0) 67.6
( 0.00] ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.00] ( 0.0)] ( 0.00] ( 4.5 | (13.9)| (5.9 (8.9 (21.6)| ( 6.D| ( 4.5 | (100.0)




11 5 11
A B ©

81 80.9 80]79.9 79]78.9 78|77.9 77 76.9 76]75.9 75]74.9 74|73.9 73]|72.9 72 |71.9 7L]70.9 70 |69.9 60 |68.9 68 |67.0 67 |66.9 66 | 65.9 65 |64.9

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50| 17.0] 17.0] 14.0 3.0 0.0 0.0 56.0
C-)D)C-)D)1C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C-=-)C~-)|(500.0)| (200.0)| (8.0)| (200.0)| 0.0)| C - )| C - ) 68.6
( 0.0)| ( 0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.00| ( 0.0)| ( 8.9 (30.3)]| (30.4)| (25.00| ( 5.49| ( 0.00| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0| 33.0] 5.0 27.0 5.0 3.0 0.0 121.0
C-)C-DIC=-D1C=-D1C=-D[C=-D[C-D[C-D]C-=-)C=-)C-)[(10.0]|(70.2| (115.6)| (8.8 | (166.7)| C - )| C - ) 68.3
( 0.0 C 0.00] ( 0.0]| ( 0.0)| ( 0.00| ( 0.00|  0.00| ( 0.0 ( 0.0)| € 0.00| ( 0.0)| € 0.8)| (27.3)] (43.0)| (22.3)| ( 4.D| ( 2.5 ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 0.0 0.0 0.0 2.0
C=-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DDC=-DC=-D[C=-D)C-DC-D)C=-DC=-D)C=-D1C-) 67.8
( 0.0 € 0.00] 0.0 ( 0.0)| ( 0.00|  0.0)|  0.00| ( 0.0 ( 0.0)| € 0.00| ( 0.0)| € 0.00|  0.0)] (50.0)| (50.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 6.0 14.0 3.0 0.0 0.0 0.0 27.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C=-D[C=-D]C=-D)]C=-)C=-)|@00]|(42.9| @0.00| (60.0)| C-)|C-D)[C-) 68.8
( 0.00]  0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0)]| ( 0.0)] (14.8)| (22.2)| (51.9)| (11.D)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 21.0| 42.0| 76.0] 26.0 5.0 0.0 0.0 171.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-DC=-DC=-D)C=-D)C-DH)ABO|(77.8| (B.0)| (46| (625)| C - )| C-) 68.8
( 0.0)| ( 0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ( 0.00| ( 0.6)| (12.3)| (24.6)| (44.9)| (15.2)| ( 2.9)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 4.0 5.0 2.0 0.0 1.0 0.0 16.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-D)C-)[(NO0| (22| (B3| (16.D)| (- )| @WOC-) 68.9
( 0.0)| ( 0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.00] ( 0.0)|  0.0)| ( 0.00| ( 6.3)| (18.8)| (25.0)| (31.1)| (12.5) | ( 0.0)| ( 6.3)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 40| 150 30.0] 17.0] 100 2.0 0.0 79.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C=-)C-)[@00.0]|(46.9|(76.9| (48| (625 (500 (C - ) 68.2
( 0.0)|  0.00] € 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)| € 0.00| ( 1.3)| ( 5.D| (19.0)] (37.9)| (21.5) | (12.D| ( 2.5)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 10| 1.0] 1.0 7.0 1.0 0.0 2.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C=-)C-)D)C-)|AN.H| (A57.1)| (366.7) | (350.0)| (100.0) | € - ) 68.1
( 0.0)] € 0.00] 0.0 ( 0.0)| ( 0.00|  0.0)|  0.0)| ( 0.0 ( 0.0)| € 0.00| ( 0.0)| € 0.00| (28.5)] (26.2)| (26.2| (16.D| ( 2.9 | ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 164.0] 1,204.0| 3,500.0 3,707.0| 1,604.0| 418.0| 108.0] 19.0| 10,817.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-)C-)]CID)| (90| (9%5.7] (8.9 (98] (8.3 (98.)]| (125.6)| (172.7) 68.8
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 1.5)] (12.0)| (32.4)| (88.49)| (14.8)| ( 3.9 ( 1.0)| ( 0.2)| (100.0)




A B C
80.9 80]79.9 79]78.9 78|77.9 77 76.9 76]75.9 75]74.9 74|73.9 73]|72.9 72 |71.9 7L]70.9 70 |69.9 60 |68.9 68 |67.0 67 |66.9 66 | 65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-DC-DC=-I)C=-)C=-DC=-D]C=-)EBDY|C-D)|C=-)C-DHC-) 68.5
( 0.0)| ( 0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)| ( 0.0)] (200.0)| ¢ 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D[CDC=D]C=D[C=DC=D]C=-D[C=DC-D[C=-D[C=DC-DC-D[C=-DC-)]C-)] 682
( 0.0)]  0.00] ( 0.00]| ( 0.0)| ( 0.00|  0.0)|  0.0)| ( 0.0 ( 0.0)| € 0.00| ( 0.0)| € 0.0)| ¢ 0.0)] (200.0)| ¢ 0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 2.0
C=-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DC=-DC=-D[C-D)]C-H[6D|C-D)|IC-=-D)]C=-D]C-) 68.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0)| ¢ 0.00] ( 0.0)| ( 0.0)| (200.0)| ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)




